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M.Com. I Semester (Main/ATKT) Examination, December 2021

mPprj ys[kakdumPprj ys[kakdumPprj ys[kakdumPprj ys[kakdumPprj ys[kakdu
Advanced Accounts

Paper - III

Time : Three hours Maximum Marks : 40

Minimum Marks : 14

Note : lHkh iz'u vfuok;Z gSA izR;sd [k.M esa fu/kkZfjr vad n'kkZ, x, gSaA
All Questions are compulsory.  Allotted marks are shown in each

Section

[k.M ^v^ [k.M ^v^ [k.M ^v^ [k.M ^v^ [k.M ^v^ Section 'A'

oLrqfu"B iz'uoLrqfu"B iz'uoLrqfu"B iz'uoLrqfu"B iz'uoLrqfu"B iz'u

Objective Type Questions

Q.1 lgh mÙkj pqfu, & 1x5 = 05

Choose the Correct Answer -

(i) iwoZnÙk O;; gS&
Prepaid Expense is -

(a) O;; An expense (b) ,d nkf;Ro A Liability

(c) ,d vk; An Income (d) ,d lEifÙk An Asset

(ii) cSad lek/kku fooj.k i= dkSu rS;kj djrk gS\
Who prepares the bank Reconciliation statement?

(a) O;kikjh Trader (b) cSad Bank

(c) nsunkj Debtors (d) buesa ls dksbZ ugha None of these

(iii) ,dgjk ys[kk iz.kkyh esa [kkrksa dk ys[kk fd;k tkrk gSA
In single entry system, accounts are recorded in -

(a) O;fDrxr [kkrk Personal Accounts

(b) okLrfod [kkrk Real Accounts
(c) ukeek= [kkrk Nominal Accounts

(d) buesa ls dksbZ ugha Non of the above
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(iv) voLFkk fooj.k dh lwph ^,Q* ls lacaf/kr gS&
List 'F' of statement of affeirs is related to -

(a) vakf'kd lqjf{kr ysunkj Partly secured creditors

(b) fofue; foi= ,oa izfrKk i= Bills of exchange and promissory notes

(c) iwokZf/kdkj ysunkj Preferential Creditors

(d) buesa ls dksbZ ugha None of these

(v) QeZ ds fo?kVu dh fLFkfr esa iw¡th [kkrs can fd;s tkrs gSa&
The capital accounts are closed in case of firm's dissolution-

(a) 'ks"k By balance

(b) cSad [kkrk By Bank A/c

(c) Ø; [kkrk By Purchase A/c

(d) ykHk gkfu [kkrk By P & L  A/c

[k.M ^c^  [k.M ^c^  [k.M ^c^  [k.M ^c^  [k.M ^c^  Section 'B'

y?kq mÙkjh; iz'uy?kq mÙkjh; iz'uy?kq mÙkjh; iz'uy?kq mÙkjh; iz'uy?kq mÙkjh; iz'u

Short Answer Type Questions

2x5 = 10

Q.2 Mwcr _.k] lafnX/k _.k ds fy, izko/kku ,oa nsunkjksa ij dVkSrh ds
izko/kku dks le>kb,A
Explain the provision of bad debts, doubtful debts and discount on

debtors?

vFkokvFkokvFkokvFkokvFkok     OR

mikftZr vk; ,oa vuqikftZr vk; ds lek;kstu dks le>kb,A
Explain the adjustment of Earned income and unearned income?

Q.3 ,d i{kh; o f}i{kh; v'kqf);ksa rFkk muds lq/kkj dks Li"V #i ls
le>kb,A
Explain clearly one sided and two sided errors and their rectification?

vFkokvFkokvFkokvFkokvFkok     OR
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^iqjkuh lEifÙk;ksa dk Ø;* ,oa ^fof'k"V pank* ij laf{kIr fVIi.kh
fyf[k,A
Write short note on sale of old assets and specific donation?

Q.4 ^ykHk dh gkfu ikfylh* ls vki D;k le>rs gSa\
What do you mean by 'Loss of Profit Policy'?

vFkokvFkokvFkokvFkokvFkok     OR

viw.kZ vfHkys[kksa ds varxZr ifjorZu fof/k dks le>kb;sA
Explain conversion method under incomplete records?

Q.5 leqnzh ;k=k ,oa ,Mªsl deh'ku dks le>kb,A
Explain Voyage in progress and Address Commission?

vFkokvFkokvFkokvFkokvFkok     OR

^ykHkak'k lfgr* ,oa ykHkka'k jfgr fofu;ksxksa dks le>kb,A
Explain cum-dividend and Ex-dividend investments?

Q.6 QeksZ ds ,dhdj.k ds D;k mn~ns'; gksrs gSa\
What are the objectives of firm amalgamation?

vFkokvFkokvFkokvFkokvFkok     OR

olwyh [kkrs dks izk#i dh lgk;rk ls le>kb;sA
Explain Realisations Account with the help of formate?

[k.M ^l^  [k.M ^l^  [k.M ^l^  [k.M ^l^  [k.M ^l^  Section 'C'

nh?kZ mÙkjh; iz'unh?kZ mÙkjh; iz'unh?kZ mÙkjh; iz'unh?kZ mÙkjh; iz'unh?kZ mÙkjh; iz'u
Long Answer Type Questions

5x5 = 25

Q.7 fuEuakfdr ls fofnr VªsMlZ dk O;kikfjd rFkk ykHk&gkfu [kkrk ,oa
fpV~Bk cukb;sA
From the following prepare Vidit traders trading and profit and

loss account and balance sheet :
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etnwjh (Wages) 8000 fcØh (Sales) 300000

fcds gq, eky dh ykxr 190000 iw¡th (Capital) 90000

(Cost of goods sold)

fofo/k O;; (Sundry Exps.) 10000 lap; (Provision) 25000

osru (Salaries) 3000 ysunkj  (Creditors) 24000

nsunkj (Debtors) 50000 vnÙk osru 3000

(Outstanding Salaries)

e'khujh (Machinery) 20000

vafre jgfr;k (Closing stock)60000

Hkou (Building) 41000

jksdM+ (Cash) 60000

442000 442000

lek;kstu & Hkou ij 10 izfr'kr nsunkjksa ij v'kks/; _.k ds fy,
izko/kku 10 izfr'kr nsunkjksa esa 20000 #- fofgr }kjk ns; 'kkfey gS
rFkk ysunkjksa esa 10000 #- fofgr dks ns; 'kkfey gSA
Adjustments - Depreciation of building at 10% provision for bad

debts at 10% on debtors, Debtors include Rs. 20000 receivable

from vipul and creditors include Rs. 10000 payable to vidit.

vFkokvFkokvFkokvFkokvFkok     OR

Hkkjrh; ys[kkadu eas vfUre ys[ks ds ekud dks le>kb,A

Explain the Indian Accounting standard final accounts.

Q.8 iou fyfeVsM ds dsujk cSad esa [kkrk ua- 1 vkSj [kkrk ua- 2 uked
nks [kkrs gSaA 31-03-2021 dks mlds nksuksa [kkrksa ds jksdM+ cgh ds 'ks"k
Øe'k% #- 5400 rFkk #- 270400 n'kkZrs gSaA cSad fooj.k dh tk¡p
djus ij fuEufyf[kr lwpuk,¡ feyh&
Pawan Limited has two accounts with Canara Bank styled account

no. 1 and Account no. 2. On 31.03.2021 his cash book showed

balance of Rs. 5400 and Rs. 270400 in the two accounts

respectively. On examination of bank's statement the following were

noticed :
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(i) iou fyfeVsM ls fcuk vuqefr fy;s cSad us #- 27000 [kkrk ua-
2 ls [kkrk ua- 1 esa gLrakrfjr dj fn;sA
Rs. 27000 has been transfered from account no. 2 to account

no. 1 by the bank without advice to Pawan Ltd.

(ii) izR;sd [kkrs esa #- 10 cSad vkdfLed O;; gS ftldh lwpuk Hkh
ugha FkhA
Rs. 10 has been bank's incidental charges in respect of each

acount which was also not adviced.

(iii) ekpZ 2021 ds vafre lIrkg esa [kkrk ua- 1 ls #- 5421 ds psd
fuxZfer fd;s x;s ij vHkh rd Hkqxrku gsrq izLrqr ugha gq;s gSaA
Cheques for Rs. 5421 issued in A/c no.1 in the last week of

march 2021 have not yet been presented to the bank.

(iv) iou fyfeVsM us #- 4272 dk psd [kkrk ua- 2 esa tek fd;k ij
cSad us [kkrk ua- 1 esa tek dj fn;kA vkidksa cSad fooj.k ds
vuqlkj 'ks"k fn[kkrs gq, cSad lek/kku fooj.k rS;kj djuk gSA
A cheque for Rs. 4272 deposited by Pavan Ltd. into A/c no.

2 has been credited by the bank into A/c No.1. You are required

to prepare bank reconciliation statement showing the balance

as per bank statement.

vFkokvFkokvFkokvFkokvFkok     OR

izkfIr vkSj Hkqxrku [kkrk ls vk;&O;; [kkrk cukus ds fy, vko';d
pj.k crkb,A
Explain the steps needed to prepare an Income and Expenditure

Account from Receipts and payments accounts.

Q.9 ueZnk fyfeVsM jgfr;s dks ykxr ls 20 izfr'kr de ij ewY;akfdr
djrh gSA 2020&21 ds izkjaHk esa ewY;ksa esa lkekU; ewY; ls 10 izfr'kr
dh o`f) gks x;h FkhA 1 vDVwcj 2020 dks vkx yxhA 2000 #i;s
ds jgfr;s dks NksM+dj 'ks"k jgfr;k vkx ls u"V gks x;kA vxzkafdr
fooj.k dks /;ku esa j[kdj daiuh }kjk mBk;h x;h LVkWd dh gkfu
dh x.kuk dhft,&

(5)



MCP/121/21

Ø; 2019&20 esa 180000 jgfr;k 1 vizSy 2019 dks 40000 #-] 41
ekpZ 2020 dks jgfr;k 20000 #-] fcØh 2019&20 esa 250000 #-A
2020&21 es vkx yxus dh rkjh[k rd Ø; 160000 #- vkx yxus
dh rkjh[k rd dh fcØh 210000 #-A
Narmada Ltd., values dosing stock at 20% below cost. Prices

were high by 10% than normal price in the beginning of 2020-21

Fire broke out on 1st October. 2020 All stocks except to the value

of Rs. 2000 were destroyed by Fire. Find out the amount of loss of

stock suffered by this company after taking the following into

consideration:

Purchase during 2019-20 Rs. 180000, stock 1st April 2019

Rs. 40,000, Stock on 31st March 2020 Rs. 20000 Sales during

2019-20 Rs. 250000. During 2020-21 upto date of fire purchases

were Rs. 160000 and sales were Rs. 210000.

vFkokvFkokvFkokvFkokvFkok     OR

bdgjk ys[kk iz.kkyh D;k gS\ bldh fo'ks"krk,¡ ,oa gkfu;k¡ crkb,A

What is single entry system? State its features and disadvantages?

Q.10 31 ekpZ 2021 dks bankSj ds X dk ryiV fuEu izdkj gS&
Following is the Trial Balance of X of Indor on 31st March 2021

   Dr.    Cr.

e'khujh ¼vuqekfur olwyh #- 4000½ 6000 -

Machinery (Estimated to realise Rs. 4000)

QuhZpj ¼vuqekfur olwyh #- 1000½ 4000 -

Furniture (Estimated to realise Rs. 1000)

jksdM+ Cash 20 -

ysunkj+ Creditors - 10000

iwokZf/kdkj ysunkj+ Preferential Creditors - 8000

iw¡th+ Capital - 8020

vkgj.k Drawings 6000 -

gkfu;k¡ Losses 10000 -

26020 26020
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X dk fLFkfr fooj.k ,oa deh dk [kkrk cukb,A
Prepare X's statement of Affairs and deficiency account.

vFkokvFkokvFkokvFkokvFkok     OR

leqnzh ;k=k [kkrk D;k gS\ leqnzh ;k=kk [kkrs ds MsfcV o ØsfMV i{k
esa lk/kkj.kr;k fdu enksa dk ys[kk fd;k tkrk gS\
What is voyage account? What items are usually recorded in the

debit and credit side of voyage account.

Q.11 ,d QeZ esa A, B vkSj C cjkcj ds lk>snkj gSaA bldk fo?kVu 31
ekpZ 2021 dks gqqvkA bldk fpV~Bk fo?kVu ds fnu fuEu izdkj
Fkk&
A, B and C are equal partners in a firm which was discolved on

31st March 2021, Its balance sheet on the date of dissolution was

as follows -

ysunkj Creditors 16000 nsunkj Debtors 66000

lkekU; lap; Gen.Reserve 6000 LVkWd Stock 28000

iw¡th Capitals jksdM+ Cash 4000

A 36000

B 24000

C 16000 76000

98000 98000

vxys pkj eghuksa esa lEifÙk;ksa dh jkf'k fdLrksa esa olwy dh x;h
vkSj ;g r; gqvk fd izR;sd ekg ds var esa lk>snkjksa esa mlh Øe
esa olwy dh gqbZ jkf'k ck¡Vh tk;s ftlesa fd izkIr gqbZ gksaA laEifÙk;ksa
ls fuEuakfdr ekfld izkfIr;k¡ gqbZ&vizSy 5600] #- ebZ 26000 #-
twu 28800 #- vkSj tqykbZ 15600 #-A jkf'k;ksa ds izfrekg forj.k

dks izdV djrs gq, ,d fooj.k i= vkSj olwyh [kkrk cukb;sA

During the next four months the assets were realised in instalments

and it was agreed to distribute the amount realised in its due

order among the partners at the end of each month the following

are the monthly realisation of the assets-April Rs. 5600, May Rs.
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26000, June Rs. 28800 and July Rs. 15600. Prepare a statement

showing each distribution month by month and Realisation Account.

vFkokvFkokvFkokvFkokvFkok     OR

,d lk>snkjh QeZ dk la;qDr iw¡th daiuh esa ifjorZu D;ksa rFkk dSls
fd;k tkrk gS\
Why and how is partnership firm converted into a joint stock

company?

ÛÛÛ
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